TAO NAN SCHOCL
PRIMARY S SCIENCE YEAR-END EXAMINATION-2007

Name: o { ) Date: 25 October 2007
Class: P53 (1) Time: 8.00 - 245 am.

Parent’s Signature: ) Marks:  _ /100

Section A (30 x 2 marks)

‘For each question from question ! to 30, four options are given. One of them is the
correct answer. Shade the correct oval (1,2, 3 or 4) on the Optical Answer Sheet.
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In what month would the farmer plant broccoli and lettuce and also harvest broccoli and

pumpkins?

{1} February

.{2} March
T3y April
(4) May



—
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For questions 2 and 3 use the information below.

The food web shows the food relationships in a freshwate

Bony bream

T TIVer.

Redfin

— ]
Lobsier

(1)
2)
(3)
(*)

e
(2
3)
(1)

What is the Perch eaten by?

Lobster only

Carp and Redfin only

Lobster, Carp and Redfin only
Carp, Redfin and Murray cod only

Which one of the following is a herbivore?

Lobster
Murray cod
Bony beam
Mosquito fish




{(H
(2)
3
(M)

{1
(2}
(3)
(4)

Study the diagram below and answer questions 4 and 5.

R

S
Which of the following statements about the part labelled Q are correct?

it can be made of tungsten.
It meits when too much current flows through it.

1t glows when the buib is connected to an electric circuit.

C only

A and B only
B and C only
A, Band C

identify the two parts that have to be connected to an electric circuit so that the

bulb lights up.

Pand Q
(Qand R
Qand S
R and S



Study the classification below.

Organisims

One-Celled Organisms Many-Ceiled Organisms
L R I

Paramecium Mimosa

Amoeba Grass

Mushroom An

Yeast Bacterium
]

v —

Which of the following organisms have been classified incorrectly?

{1y Yeast and Mimosa

(2} Amccba and Grass

(33 Mushroom and Bacterium
(4) Paramecium and Ant



7. Study the classification chart below carefully.

Materials

-

-

(Good conductors ofj
-

I

t Poor conductors of b

)

Transparent .- ]

1
l Magnetic }‘ Non-magunetic J‘ ,
} 1 - - ) E

l .B__ — C
What can A, B, C, D and E be?
A B C D E
(1) | steel copper frosted plass | tinted glass cloth
| (2)__| cobalt mercury clear plastic frosted glass | styrofoam
{3) Isilver nickel tin oi leather
4y liron aluminium | clear water | frosted plastic | wood

8. The equation below shows the process of respiration.

Glucose + Oxygen - Energy + Carbon dioxide + Water
Which of the following is true?

Ac: It takes place in the cell.

B:  In plants, it takes place during the day and night.

C: Sunlight provic'ies energy for rt;spiratidn in plants.

D Energy, carbon dioxide and wate; vapour are the préducts of respiration.
(i) A and B only -

(2y Cand D only

(3) A,BandDonly
4 A,B,CandD

Ly



o Which one of the following statements is true?

(13 Root cclis make chlorophyll in their cytoplasm.

2y Planicelis have cell walls but no cell membrance.

(3)  Leaf cells manufacture starch during photosynthesis.

(4)  Leaf cells have chloroplasts to trap light energy for photosynthesis.

10, Which of the following circuits will have at least one bulb lighted up?

(n [oniy

(2) Iand 1V only
(3y 1, Nland IV only
(4)  Altofthe above

1t Where does fertitization takes place in the female reproductive system below?_ .

géq
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12. Below are statements about fﬁngi made by four pupils. Which pupil made an
incorrect statement?
- {1} Jonathan , (2) Marcus
Yeast and bread mould Fungi feed on decaying
are examples of fungi. matter.
(3) Fliza (4) Chice
{ All fungi are poisonous. ‘ Fungi undergoes '
L respiration.
13, Richard batanced 2 loads, Load A and Load B on a lever as shown below.

|

Fulcrum

(1)

2)
(3}
(4

What should he do to make Load B tit up?

He should move Load A towards the fulcrum.
He should move the fulcrum away from Load B.
He should move Load B towards the fulcrum.
He should move the fulcrum towards Load A.



14.  Below is a classification table.

i has legs GotoB
A it does not have legs goto D
B i 8 legs or less GotoE
it more than 8 legs gotoF
i body with no shell GotoF
C it body with a shell Mollusc
i body with rings Annelid
D i body with no nngs Nematode
i 6 legs Insect
E il 8 legs Arachnid
i all legs are of the same length Myriapod
F i | not ail legs are of the same length Crustacean

Using the classification table given, what is the organism above?

(1) Annehd
()  Arachnid
(3) Mynapod
(4)  Crustacean



5.

Study the diagram of the wheel and axle below carefully.

wheel axle

rope s———————]

Load{" __

¥ Effont

Which of the following conditions will require a bigger effort to lift the load?

(1)
(2}
3)
®)

(n
(2)
3}
4)

Increase the mass of the load.

increase the size of the axle.

rease the size-of the wheel.

C:only

Aand B only

B and C only
A, B and Conly

Which one of the following is an cxample of a pull?

Kicking a soceer ball.

Flicking an ant crawling on my shirt.
Pressing the buttons of a remote controi.
Lifting a lid from a plastic food container.



7. A motor lurns a driving gear iy a machine at 10 turns per minute. The driving gear -
ies 24 wrns a minute.

is attached (o another gear thal compie

Which diagram represents the gear in this machine?

(1 (2)
‘18_
Q
O 2
()]
(;.Ll
5
te ¥
(4)

b{\ﬁ'\ﬂg Geg,

tof

hanges that take place around us and the resul
hows the result correctly?

18, The table below shows some ¢
these changes. Which of the following s

T TChamge Result
(1} | Revolution of the Earth | Day and pight
L.ow tide

u(ﬁ2) —];TO—W!E for amonth o

QI__Cwun-iEg of trees in a forest ~

SE%L,L_F;&?EOWiong.f_v_fﬁieii@m_lﬁé;__ B

Death of some animals.



19.

20.

(1)
(2)
(3j
4)

The diagram betow shows the position of the shadow cast by a stick at 4 different

times during a day. Which diagram shows a shadow cast at 6.00pm?

N

(1)

(4

Henry has been advised never to touch a switch when his hands are wet. Which
one of the following is the best reason?

The wires may rust.

He may dirty the switch.

He may get electrocuied.

The switch may net work if it gets wet.

11



21

The diagram below shows 3 buzzers, A, Band C ina circuil. -

A
glass rod nickel
Battery
£ holder
C containing
LHC:_)_:— = haticries

iron nail

Which buzzer(s) witl sound?

(H
)
(3)
4

22

(y

(2)
3
(4)

C only

A and B only

Aldl of the buzzers
Nane of the buzzers

Which is the function of the cell wall ot a plant cell?

It keeps the plant upright.

It absorbs water from the seil.

It controls the activities in the plant cell.

It helps to maintain the shape of the plant cell.



23,

John carried out an experiment to determine the effects of objects of different masses
on a spring. A line graph was plotted as shown below afier the experiment.

Length of spring {cm)

O 200 400 600 BOO

Mass of object {g)

What can John conclude from the tine graph above?

()
{2)
(3
(4

The length of the spring increases proportionately with respect to the mass of the
object.

Doubling the mass will double the length of the spring.

When a 600g object is hung on the spring, the length of the spring is

30cm. ' ,

The extension of the spring is 15cm when a 300g object is hung on it.

A and B only
A and D only
B and C only
C and D only

13



Our blood can be classified into four groups — A, B, AB and O.

The table below shows how the blood types of blood donors and recipients are

matched.
o . - . .
Blood Type Blood type of person donating blood
Blood type of person '
o _ A B AB O
| receiving biocod |
A _ Yes No No Yes
e ——— S — .
- B No Yes No Yes
AB Yes Yes Yes Yes |
.5 | N} No j MNo | Ve k

Michael’s family members have the following blood types:

Father - B
Mother - A
Brother - AB
Sister - 0
Michael - B

if Michael needs a blood transfusion, who can he receive blood from?

(b
(2)
(3}
4

His father only

His mother and brother only

His father and his, sister only

His father, brother and sister only



25.  Li Ying carried out the experiment below.

rubber ball

ramp.

wooden box expected position

—
observed position

When she released the rubber ball, the box did not move as far as she had expected. What
could she do to the set-up to ensure that the box moves to the expected position or further?
A:  Lower the ramp.

Use a heavier ball.
C:  Use a smoother ramp.

D:  Add weights to the wooden box.

{1} A and B only
{2) A and Donly
(3) BandConly
4y~ C and D only

26.  The diagram below shows the stages of reproduction of a yeast cell.

—-*C?f*(éj-*él*

Which one of the following about this process is incorrect?

(1)  This method of reproduction 15 called budding.

(2)  The young cell and the parent cell share the same nucleus.

(3) The young cell has the same characteristics as the parent cell.
(4)  Part of the cytoplasm of the young cell comes from the parent ceil.

15



37.  The diagram below shows certain objects in the Solar System

AT TR L Rt LA R LR T

path of objects

Object A is the source of light and heat.
Object B and Object C move around object A.
Object D moves around object C.

What are Object A, Object B, Object C and Object D7

Earthl‘—_— Mercury
| Mercury Earth




28 Below are the steps of a starch test.

A — 1 Pluck a leaf from a plant. \

B (Leave the plant in the Sun for a few days.

c — LSoak the leaf in a test tube of alcohol and place the test tube 1n hot water.

D ljoil the teaf in water. ‘\

E

B LWash the leaf and then add a few drops of jodine solution over it.w

Which of the following arrangements show the correct order of the starch test?

(I A,B CDE
2y A,B,D.CE
3y BACDE
4y B,A.DCE

26 In which of the following is/are heat produced?

A:  Striking a match.
B:  Watering a plant.
C:  Hitting a narl with a hammer

() Aonly
2y Conly
(3) A andConly
{4y B and Conly

17

(4°



30.  The foliowing diagram shows a circuit card.

Pairs of clips were tested with a circuit tester.

Yes- Represents atlow clectricity to flow through.
No - Represents do not allow electricity to flow through.

Which of the following shows the result when the pairs of clips were tested with the
circuit tester?

miﬁO"U

18



Name: . ( )
Class : 5 ( )

__'_'____ﬁ_..___._‘—ﬂ———'___.—ﬁ____—__——ﬁ_______/_“___,___.——__

Section B (40 marks)

For questions 31 10 46, write your answers in the spaces provided.

Iy

011. Ying Runsetup?2 circuits using three batteries and a bulb. The type of batteries and
bulb used for the 2 circuits are also the same.

R R— i

Setup A Setup B

(2) When the switchis closed, the bulb in which setup will be brighter? Explain your
answer, {1m)

(b) Give one advaniage of the arranpement of batteries in Setup B. (1m)

g’k/

19



Q32. The same spring 18 used tom

ove a toy car to the top of a block in two different ways

as shown in the following setups.

T
Setup X Setup Y
I A Setupx Setqu
Y Ll
Orlgmal length of spring !0 cm 10 cm
| Length of f the extended spring = when the toy car is movcd 16 cm 14 cm
| Distance traveMed by the toy car 8 cm 1Zcem

(a) - Which one of the two setups requires greater cffort to move the toy car? Why? (1m)

(by. From the resultsigiven, what 1s the advantage ofusmg the way irrSetup X to move the
toy-car to the top.of the block? (1m)

(¢} What is the length of the extension of the spring in Setup Y7 (1m}

20



13, Classify the substances in the box below in the table provided. (Zm)

Substances:
Steam i Blood Alcohot ‘—l
Snow Helium Ml —}
b _ I - —
Solid N Liquid : Gas j

34.  Alex connected two identical emply bottles and a glass tubing as shown in the
diagram below. in the glass iubing, he had added a drop.of red ink. He then placed

each of the empty bottles in a basin of water. -

plass tubing

red ink

& mply
baoattles

walcr

Basin X Basin Y

w, state the direction of the movement of the red ink by writing

(a) In the table belo
when the water has the following set of tempcratures.

“Towards X or “Towards Y~

(1m)
' Temperature of water ) Direction of movement of the drop
" Basin X Basin Y of red jaK
(i) 19 90 . .
(i) 90 10 . i

(b) Explain your answer in (a}, (1). 2m)

21



35. Clara drew the chart below (o classify plants based on their methods of

reproduction

Complete the chart by filling in the empty boxes (a) and {b). (2m}

Methods of reproduction
in plants

From spores

From seeds {. From plant
_ _ parts _
Balsam 7 — A . .
Angsana o ‘ Fungi
@ . .
, ] Stag horn f Mushroom
' : ag horn fern Bread 1d
Begonia - Banana
Bryophylium (nn.ger Pineapple
Cnion :
made?

{(c) Clara was told that there is an error in her chart. What is the error Lhét Clara had

(1m)

22



36. Read the following statements carefully.

e

g pand e Skt bacomes biggel

The air goes into the jungs.

A

B

C:  Air goes through the nose.

D The air goes into the windpipe.
E

e

breathing. The first has been done for you. {gm) .

=00

= . e

Arrange the above statements in the correct Erder to describe what happens during

17 A substance has to pass through various parts of a plant cell before reaching the
nucleus.

(a)  Use the words given below to write the correct order in which the substance has o
pass through. (Im)

o ————————

[ Cell membrane ' Cytoplasm Cell wall

—_— ——

i I S Y E—

(b)  Which organelle in the plant cell helps it to'make food? (1m)

23



18 lames measured the temperature of the air inside a covered glass container.

|

Surrounding atr
{30°C)

Glass container

S

He then placed a lighted lamp inside the same covered container as shown below.

Surrounding air -————— Glass container
(30°C)

He took the temperature of the air inside the container every 20 minutes, for one -
hour. '

Lighted lamp

Lire
{a) Draw the temperaturc —44rr7€ graph to show the change in the temperature of the air
inside the covered glass container during this hour. (im)

1ooﬁ

80 A

Temperature {C) 60 -

405/'

20 1

0 20 40 80 ) 1do
Time (min}

(b) Explain the change in temperature of the air side the covered glass container during
this hour. (1m}

24



319. Look at the diagram of an insect-pollinated flower below.

ldentify the parts marke

(3m)

By

d X, Y and Z and their corresponding functions in the tabie below.

Plant Part

l Function

X

25



4Q. Zheng Weiset up the circuit below using 2 bulbs,
SZ and 53.

o .8
st Bl

g2\ S +

50N o

B2

¢ bulbs, Bl and B

He wanted to find out which of th
ded some of the data he coliected in the ta

were opened and closed. He recor

y boxes to-complete the table. {(3m)

T Switches

(a) Filt in the empt

B1 '

Closed

(b) What could we do to make the bulbs glow more brightly? {1m)

A

Did the bulb light u

B1 and B2, and three switches, 51,

2, will light up when the switches
ble below.

?

Open_ \ L

26



41. The diagram below shows cells produced by a man and a woman. The cells are
tabelled, Cell A and Celi B respectively.

Cell A

fa) ldentify Cell A and Cell B.(Im)

Cell A

Cell B :

{b) Which reproductive organ is Cell B produced in? (1m)

27



47. Linda observes 4 fruits each wtth a different method of fruit/seed dispersal and
describes them as follows:

Fruit A ‘The fruit has a fibreus husk that traps air.

Fruit B- The fruit is fleshy, tasty and has 4 bright orange skin.

Fruit C: The fruit has a few sceds. it 13 pod-iike and has a dry brown skin when ripe.

Fruit D- The fruit is small with onc seed. It is tipped with a tuft of fine soft hair.

Based on the characieristics of the fruits, how ase:ths;y dispersed? (2m)

A 'L S O — Mgthod of fruit/seed dispersal
Fruit A
Frut B

T FitC

T Fratb

A3, Yu Hui carries out an experiment according to the steps below:

Step 1: Fill a bottle with warm waici.

Step 2: Add about 20g of glucose to the water in the bottle and stir.
Step 3: Add about 10g of yeast to the sofution in the bottle.

Step 4: Stir the mixture well.

Step 5: Stretch a balloon over the iop of the bottle. Use a rubber band to secure the

balloon. Observe the balloon after 10 minutes.

L

Observation: Gas X is produced.

(a) What is Gas X? What can Yu Huido to identify Gas X7 (Im)

(b) Identify the process that has taken place in the experiment? (1m)

28



ied out 4 different aetivities for the same duration. These activities are
the letters A, B, C and D. e then measured his breathing rate and pulse

The results are shown in the table below.

—Fag?rate (per minnie)
66

44. Terry carw
represented by
rate for each activity.

 Activity
A o
B . . |
C 105
o 140 o

ies A, B, C and D that Terry carried out with their corresponding
(2m)

{(a) Match the activit 7
h activity A, B, Cand D ¢an only be used once.

descriptions. Eac
Activity ]

l)_escrigti(;a—

inapark

Sleeping at home
_Eg_n_erg a 100m race -

nship between his breathing rate and his pulse rat

e? (1m)

{b) Whatisthe relatio

29



45. During a Science lesson

( | have very )

Using a

good cyesight microscope is
and do not need much more
to use the effective.

microscope 1o
fook at the plant
cells.

Zachery

(a) Why did Thomas insist that it is better to use 2 microscope? (tm)

1 i€ DOYS WIoIe gown the procedure When using the microscope. However, they missed
out some words and would need your help to £l in the blanks to complete the procedure.

(Zm)
Procedure

Step | Switch on the power.

“Step2: Tum the LZ)O’)
' 2253 . . Place the glass slide on it
D ‘

Step 3:  To see more clearly, adjust the(c) while fooking

to the lowest magniﬁca:ion(Lower the

through the (d) _ - You shouid be able to see the

enlarged speciment.

30



46. Rachel and Audrey set up an electromagnet as shown below. They wanted to investigate
how the material of the rod affects the nuinber of paper clips attracted. Four rods A, B,
C and D, each made of a different material is used. The same number of paper clips is
used to test cach material.

1% :

‘\ batteries

I~ switch
[~ q

"s.__\ .

™) wire
S

rod™

Their teacher reguired them 10 contro} their variables as shown below.

S L
 |Changedvariable Constant variable
Material of rod N

\]

[_ng. of wire ﬁ‘g

The two girls also recorded the number of paper clips attracted and the number of tuns of
the wire around the rod.

T Red | Numbirofpaper lips | Number of furns of the wire |
L 1 attracted o
A S . Y A
B I I — N R —
C - 5 R S—
) 2 !

{a) Their teacher looked at the recordings in the two tables and told the two girls that they
did not conduct a fair test. Why is this s0? (1m)

(b) What variable was being measured? (1m)

(c) What material is rod A made of? (1m)

31



Tao Nan Primary School

Primary 5 Science SAZ Exams (2007)

SECTION A : (60 MARKS)

Gn no.

Ans Qnno. Ans (n no. Ans
1 3 i 1 2 21 4
|2 4 12 3 | 22 4
3 4 13 3 23 2
4 4 14 3 24 3
5 3 15 2 .25 3
6 4 16 4 26 2
7 3 Y 2 27 1
8 3 18 3 28 4
9 4 19 1 29 3
10 | 4 L 20 3 ] 30 4
SECTION B (40 MARKS)
3la. The bulb in setup A. Its batteries are arranged in series while in setup B arranged in
parallel.
31h. They will make the bulb in the setup B fast for longer time
32a. Setup X. In setup X, the toy car movers a shorter distance than setup Y. Hence
greater effort is required
32b. ¥t dose to have to go over a longer distance
32c. 14cm
33. Solid : Snow
Liquid: Bleod, Oil, Alcohol
Gas: Steam, Helium
34a. i) Towards X ii) Towards Y
34b. When the water in Basin Y is heated, the air in the empty bottle expands, hence
pushing the ink drop towards X.
38a. Ferns
3s5h. Underground stem,
35¢. Fungi are not plant but she classified them as plants.
.36. A—p»C —D —»B
37a. Cell wall — Cell membrane — > Cytoplasm

Page Fof 2



37b.

38a.

38b.

39.

40a i)
40a ii)
404 iii)
40b.

41a.
41b.

42.

43a.
43h.

44a.
44b.

45a.
45b.

46a.
46b.
46c.

Chioroplast.

Heat is transferred from the lamp to the air in the container.

X : Petals : Itis to attractinsect to pollinate the flower.
Y : Stigma : Itis to trap the pollen grains.
7 : Anthers: It produces pollen grains.

No, No

Yes, Yes

No, No

We could arrange the bulb in parallel position.

A: Ego cell. B: Sperm.
Testes

A: Water
B: Animals
C: Splitting
D: Wind

She can pass the gas into a beater of limewater. 1f the limewater turns chalky, the gas
is carbon dioxide.
Regpiration.

B,C,A.D
The raore his breathing rate, the more his pulse rate.

The microscope can magnify the plant cells so that the plant cell is clearer.
Step 2) b)Objective lens, a) stage
Step 3) c¢)focus knob, d)eye piece

They changed two variables instead of one.

The number of paper clips attracted.
Steel.
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